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Vasile Ĉırtoaje35Algebraic Inequalities6�Ö¥y²
Xe�êØ�ª:

½n 1 � a1, a2, · · · , an ´�¢ê�÷v a1 + · · ·+ an = n. y²:

1

a1
+

1

a2
+ · · ·+ 1

an
− n ≥ 8(n− 1)

n2
(1− a1a2 · · · an).

ekt�Ç¯, þ¡�Ø�ªm>�Xê´Ä�^,�ýé~ê5�O?

5¿� 8(n−1)
n2 → 0 (� n→ +∞), ¤±� n ¿©��, ù«�O´k¿Â�.

�©£�
ekt�Ç�¯K, y²
Xe½n:

½n 2 � a1, a2, · · · , an ´�¢ê� a1 + · · ·+ an = n. y²:

1

a1
+

1

a2
+ · · ·+ 1

an
− n ≥ (2

√
2− 1)(1− a1a2 · · · an).

y² P

F (a1, a2, · · · , an) =
1

a1
+

1

a2
+ · · ·+ 1

an
+ λ · a1 · a2 · · · an,

Ù¥ λ = 2
√

2− 1.

�y

1

a1
+

1

a2
+ · · ·+ 1

an
− n ≥ (2

√
2− 1)(1− a1a2 · · · an),

�Iy

F (a1, a2, · · · , an) ≥ n+ λ.

- ε = 1
n+λ

. e¡©ü«�¹?Ø.

�¹�: e�3 k0 (1 ≤ k0 ≤ n), ¦� ak0 < ε, Kw,k

F (a1, · · · , an) ≥ n+ λ.
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�¹�: ak ≥ ε (k = 1, · · · , n).

dK�^�: a1, · · · , an > 0� a1 + · · · + an = n, �� ak ∈ [ε, n]. qdu

F �ëY¼ê, � F 3k.4«mþ������, ����:� (b1, · · · , bn).

u´�Iy² F (b1, · · · , bn) ≥ n+ λ.

e�3 k1 (1 ≤ k1 ≤ n), ¦� bk1 = ε, Kw,k

F (b1, · · · , bn) ≥ n+ λ.

eé¤k� k (1 ≤ k ≤ n), þk bk > ε. K?� i, j (1 ≤ i < j ≤ n) ¦�

ai + aj = bi + bj; � k (1 ≤ k ≤ n, k 6= i, j) ¦� ak = bk. l


F (a1, a2, · · · , an) =
∑
k 6=i,j

1

ak
+
ai + aj
aiaj

+ aiaj · λ ·
∏
k 6=i,j

ak

=
∑
k 6=i,j

1

bk
+
bi + bj
aiaj

+ aiaj · λ ·
∏
k 6=i,j

bk.

d� F (a1, · · · , an) ´'u aiaj �¼ê, Ù¥

aiaj ∈

[
ε(bi + bj − ε),

(
bi + bj

2

)2
]
, bibj > ε(bi + bj − ε).

dé�¼ê�üN59 F 3 (b1, · · · , bn) �������

bi + bj
bibj

= bibj · λ ·
∏
k 6=i,j

bk ½ bibj = (
bi + bj

2
)2.

= 1
bi

+ 1
bj

= λ ·
n∏
k=1

bk ½ bi = bj üö7k��¤á. dd�� b1, · · · , bn ¥�õ

kü«ØÓ��.

¯¢þ,e bi, bj, bk (1 ≤ i < j < k ≤ n) pØ�Ó, K7k

1

bi
+

1

bj
=

1

bj
+

1

bk
=

1

bk
+

1

bi
= λ ·

n∏
l=1

bl.

ù`² bi = bj = bk, ù� bi, bj, bk pØ�Ógñ. � b1, · · · , bn ¥�õkü«Ø

Ó��.

� b1, · · · , bn ¥k u � 1− vt, v � 1 + ut. Ù¥ u, v ∈ N+, u+ v = n, t ∈

R� 0 ≤ t < 1
v

(e u, v ¥k 0, K b1 = · · · = bn = 1, Ø�ªw,¤á). d�

F (b1, · · · , bn) �=z�

f(t) =
u

1− vt
+

v

1 + ut
+ λ · (1− vt)u · (1 + ut)v, t ∈ [0,

1

v
).

��Iy

f(t) ≥ n+ λ = u+ v + λ.

Ï� f 3 [0, 1
v
) þëY, ��Iy:
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(1) f(0) ≥ n+ λ;

(2) lim
t→( 1

v
)−
f(t) ≥ n+ λ;

(3) é t ∈ [0, 1
v
) ÷v f ′(t) = 0, k f(t) ≥ n+ λ.

é (1), f(0) = u+ v + λ = n+ λ ≥ n+ λ.

é (2), � t→ ( 1
v
)− �, f(t)→ +∞, � lim

t→( 1
v
)−
f(t) ≥ n+ λ.

ey (3). 5¿�

f ′(t) =
uv

(1− vt)2
− uv

(1− ut)2
+ λ · (1− vt)u · (1 + ut)v · (− uv

1− vt
+

uv

1 + ut
)

= uv · ( 1

1− vt
− 1

1 + ut
) · ( 1

1− vt
+

1

1 + ut
− λ · (1− vt)u · (1 + ut)v).

d f ′(t) = 0 ��

1

1− vt
+

1

1 + ut
= λ · (1− vt)u · (1 + ut)v.

�d�

f(t) =
u+ 1

1− vt
+

v + 1

1 + ut

=
u2 + u

u− uvt
+

v2 + v

v + uvt

≥ (
√
u2 + u+

√
v2 + v)2

u+ v
(CauchyØ�ª)

≥
(
√
n(n− 1) +

√
2 · 1)2

u+ v
(1)

=
n2 − n+ 2 + 2

√
2n2 − 2n

n

>
n2 − n+ 2

√
2n

n
(2)

= n+ 2
√

2− 1.

Ù¥, (1)ª¤á´Ï�é g(x) =
√
x(x+ 1), x > 0¦�,k

g′(x) =
1

2
·

√
(2x+ 1)2

x(x+ 1)
=

1

2
·

√
4 +

1

x(x+ 1)

'u x üN4~, = g 3 (0,∞) eà. d`�Ø�ª=� (1);

(2)⇔
√

2n2 − 2n >
√

2n− 1⇔ 2n2 − 2n > 2n2 − 2
√

2n+ 1⇔ 2(
√

2− 1)n > 1,

|^ n = u+ v ≥ 2 =�Tª¤á

nÜ�¹�, �¹����½n 2¤á. �
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